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wiEE RIES S EEHIER
% g R - IR B 2 il ® % W =

EERE 98,025,464 + 10,697, 449 108, 722,913
EEAGE 98, 025, 464
EERE 10, 697, 449
Z Ot R 98,025,464 x 42.86% ( 30% + (1 — 30%) ) 42,013,713
BRI 108,722,913 + 42,013,713 150, 736, 626
—REEEE 150, 736,626 x 53.85% ( 35% = (1 — 35% ) ) — 8,299 81,163, 374
ES Tt 150, 736,626 + 81,163, 374 231, 900, 000
HERERLEE 231,900,000 x 10.00% 23, 190, 000
(BEREH 231,900,000 + 23,190, 000 255,090, 000




BERRE KRS BB £
£ 4 - MRTE g 2 & =

BRI 108, 722, 913
ARBEEERIES 108, 722, 913
PN o s I E S 108, 722, 913
EEMMEE 98, 025, 464
BEEHMEE 97, 220, 864
1 EEEWHER 24.00 3,504, 440 84,106, 560
2 BEEWMBER 2.10 855, 250 1,796, 025
3 EEEMENER 12.10 935, 395 11,318, 279
TE&E 715, 200
4 TEE 24.00 29, 800 715, 200
W& - |E 89, 400
5 ik - mE GEFH) 1.00 29, 800 29, 800
6 ik - e (PR 1.00 29, 800 29, 800
7 BE (EB=TE) 1.00 29, 800 29,800
EiERE 10, 697, 449
EHBERARE 952,183
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8 EHEARE 1.00 952, 183 952,183
=

BEREARE 1,904, 366

9 EEHMERRE 1.00 1,904, 366 1,904, 366
=

EBREDEER AL UBERES 2,400, 000

10 ¥ FEEEH B L VEBERES 1.00 2,400, 000 2,400, 000
=

EEAEREERPLUBRES 5, 280, 900

1M ¥BAEBREEHSLURRES 4% 1.00 2,043, 300 2,043, 300
=

12 $BAEHREEHBLUVURERES 5% 1.00 3,237, 600 3,237, 600
=

R 160, 000

13 £HERME R 1.00 160, 000 160, 000
=
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& BEBEMEE BRE 4N 1A&Y
4 b R - RTiE B #H = B ff & %8 = 5 &
HEm (A)
A 1. 40 59, 600. 00 83, 440
HEm (C)
= 1.00 3,421,000. 00 3,421,000
& § {E%8EH - 1.00A8 3,504, 440. 00 3, 504, 440
52
2% BEEHEERE BB 1A 1A&Y
4 f K - kT =R v #H = B ff o £ W = 5 &
High (C)
= 1.00 855, 250. 00 855, 250
& g 1E%8EH : 1.00R 855, 250. 00 855, 250
53
£ BEEEHEER ®WH 14 IED)
4 b R - RTiE B #H = B ff & %8 = 5 &
A (C)
= 1.00 935, 395. 00 935, 395
& B 1E%HEH : 1.008 935, 395. 00 935, 395
=54
& TEE HEEP
4 b K - KT =R v B 2 B O{f o 2 W = 5 &
HEm (A)
A 0.50 59, 600. 00 29, 800
& g YEZ8EH : 1.00[E 29, 800. 00 29, 800
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&5 :5
B i - WE GEFHER 1K%Y
4 f I - kT B B 2 B f o % = 5 &
HEm (A)
A 0.50 59, 600. 00 29, 800
=) g 1E%HEHN : 1.00K 29, 800. 00 29, 800
5.6
£ HE - e (PR 1Ly
4 [ R - RTiE =R iv2 % = B £ %8 W B 5 &
AR (A)
A 0.50 59, 600. 00 29, 800
& B YEZEREH - 1.00=K 29, 800. 00 29, 800
517
£ 9E - E (EBETTH) 1KLY
4 o R - WRTiE B #H = B ff & %8 = 5 &
HEm (A)
A 0.50 59, 600. 00 29, 800
& 5 EZREHN : 1.00K 29, 800. 00 29, 800
&5 :8
2% BHARE 1K%Y
4 b R - KT =R v B 2 B O{f & £ W = 5 &
EEARE
= 1.00 952, 183. 00 952,183
=) Bt YEZEREH - 1.00=K 952,183.00 952,183
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E5:9
2% BEMEREE 15ty
3 # 1B - BARE B B B ff i % % =
CEREREE
=® 1.00 1,904, 366. 00 1,904, 366
“S it YEZEREH - 1.00=K 1,904, 366. 00 1,904, 366
&5 .10
2% EBAEDESHSLVEERS B
% s 1B - B E B B B ff i 1 % =
LHEAEDEENS L VEGES
= 1.00 2,400, 000. 00 2,400, 000
= it E¥8EH - 1. 00X 2,400, 000. 00 2,400, 000
&5 1
2% LBRERTEHSLUBRES 14 B
3 7 1B - BIRHE B B B P 1 % =
EEREREERNSLURRES
= 1.00 2,043, 300. 00 2,043, 300
= it YEZEREA - 1. 00K 2,043, 300. 00 2,043, 300
BE 12
2% XBRERTERPLUBIEE 54 EX L)
3 7 B - IR A B B B @ i " " =
LEAEREENPLURRES
= 1.00 3,237, 600. 00 3, 237, 600
= it YEZEREH - 1.00=K 3,237, 600. 00 3, 237, 600
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KIREEEEHIER
&5 .13
& EBRER 1XLY
£ kg g - BiKTE B3 #H = i & % W E g &
EERERE
=® 1.00 160, 000. 00 160, 000
=) it EZRES - 1. 00K 160, 000. 00 160, 000




